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(x+5)*-6(x+5) +9= -6

==
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RAOE 1 Zorei

ROXZREDERLIFELN,
#[17101) 2+ 5xy —24y°

#[1T14) 4x*—12xy +9y*

[T117) x°+8xy +16y°

A2 Fore

ROXZRETERLUITELN,
#[1(1) ar*-ax-6a

#14) 5x°-20y°

[177) 3ax®*-18ax+27a

RORZEDEUIEEL,
#(1) (x+y)’+5(x+y) +4

713) (@—1)°-16(a—1) +64

*[T11(5)

9x*—24x+16 #[T113) 4x°+28x+49
642’ - y* [171(6) a’—18ab+81b
36a°-121b° [1719) 4x*-20x+25
2y +3xy—10y #TT13) 3x*—6x-9
— 2%+ 20x - 48 #[1716) 5x°+40x+80
2a°b—50bc” [17109) 3a’x+15ax—42x

#*[I(2) (x-y)*-25

T4) (x+2)°-3(xr+2) -4

w FrL IR

RORZRESERLUIEELN,
[1701) 16x* - (r—2y)°

22 #m1= H

02) (@ +2xy+y’) — (x+y) -2



E xoXzEHI@BUEEL,

UNB UNBTEE 20555

el

(1) 22+ 10y +9y° [T71(2) 4x*+20x+25 [171(3) 9a°—24a+16

[171(4) 16x°-25y° [1715) x*—12xy + 35y [T716) 16a*+8a+1

T0(7) x*—10xy +259° [718) 9a*—16b° [T7109) 9x*-12x+4

1 xoXEEHD@ELEE,

[(11(1) ax®+4ar—2la [T 2) 22°+8r+8 [171(3) bx*—45y"

[714) —3z*+332x-90 [T115) 6a”—T72ab+216b* [1716) a’r+7ax+12x

[1117) 2ax*+4ax—6a [T118) 3y’ —24xy+36x [T79) xy®—16x

RORERBDBLIEEL,

[T7(1) x(x+2)-5(x+2) [1712) (r—y)*+5(x—y) +4

T713) (@—b)*-25 [1714) (x-3)*+3(x-3)—-28

*BATFIVvIULTHES* FEXE
" B 188(  )|[288(  )[3EE( / )| NO®ZZIIR?

EZZE) 50K? | YES / NO | YES / NO | YES /NO |P.18 [REiak

EXE5F» (0K? | YES / NO | YES / NO | YES /NO |P20 [REIaF]

EXEED 30K? | YES / NO | YES / NO | YES / NO |P.20 [REIsE

£18 BH 23





